Exponent Rules Review – What do you Remember??          Name:__________________________Hr:___

Try solving all of the following without a calculator – see what you can remember!
[image: C:\Users\deols004\OneDrive - Minneapolis Public Schools\Algebra 2 (Focused Instruction)\Q2 - Unit 3-Exponents\exponents - part 1 - exponent rules\exponents_comic_strip.png]
1.  For all three problems, the instructions are to use the digits 0-9 (each at most once) to make the sentence true:
[image: C:\Users\deols004\OneDrive - Minneapolis Public Schools\Algebra 2 (Focused Instruction)\Q2 - Unit 3-Exponents\exponents - part 1 - exponent rules\exponent puzzle.JPG]
2.  Simplify the following expressions such that they have no negative exponents:
[image: ]                                               [image: ]
If , , , what is the value of each question above that has x,y,z variables (*no calc)

3. 
 [image: C:\Users\deols004\OneDrive - Minneapolis Public Schools\Algebra 2 (Focused Instruction)\Q2 - Unit 3-Exponents\exponents - part 1 - exponent rules\simplify with radicals.jpeg]


4. Challenge: Rewrite   in terms of x if , , 




5. [bookmark: _GoBack]High Challenge:
Which of the following options is equivalent to the following expression?
[image: C:\Users\deols004\OneDrive - Minneapolis Public Schools\Algebra 2 (Focused Instruction)\Q2 - Unit 3-Exponents\Capture.PNG]
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Lsn 2-1: Group Work
Roots

Even Roots: The number under the radical must be positive.
The answer must be positive.

examples: \25-5 | %4 =% | ¥81=3 | ¥16=2

Odd Roots: The odd root of a positive number is positive.
The odd root of a negative number is negative.

examples: ¥8=2 | ¥8=-2| ¥32=2| 25=5

Find each root:

WA 8) 'y
2) /0009 9) 410000
3) VK™ 10) 32"
4) 125 11) ¥-1

5) 3-64 12)31000x®
6) 4625 13) §-32

n 14) Y64
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Forallthree problems, the instructions are to use the digits 0-9 (each at most once) to make the sentence true:

7% 78275 7%= 7% 7%= 75 7%= 7% 70
X0 X X P X

o

0. x0= xP=x 0.

(structure of 2and 31s different than that of 1)
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